

Ocala Utility Services - Electric, FL

[View](#)

Event # FB-6-6/18/2025-MS

Creation Date 6/18/2025

Due Date-Time 6/25/2025-02:00 PM EST

Description ITB# OFN/250765 - INVENTORY-REORDER & LUMEN REPORTS-FY25/2ND QRT

Event Notes ***ALL FREIGHT/SHIPPING COST SHOULD BE ADJUSTED IN THE PRICE PER EACH*TAX EXEMPTION APPLIES***

LineNo ItemID Description Qty UOM Alt Notes
 1 [F69017024](#) CABLE, INTERMEDIATE FIBER OPTIC - 24 FIBER, 15,000' NR REEL 80000 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
80000	0.26000	20800.00000	45	Genuine Cable Group - Alpharetta, GA	WAVEOPTICS	FOSPC-024-1-SJADD-FT000-US	PRICE PER FOOT - MFG LT 6WKS ARO
80000	0.28000	22400.00000	40	Millennium Florida - Apopka, FL	WAVEOPTICS	FOSPC-024-1-SJADD-FT000-US	
80000	0.29500	23600.00000	70	GRESKO - Wildwood, FL	OFS	AT-3BE17S6-024-CMCA	
80000	0.32010	25608.00000	56	Netceed - Winston Salem, NC	OFS	AT-3BE17S6-024-CMCA	
80000	0.35000	28000.00000	30	Millennium Florida - Apopka, FL	OFS	AT-3BE17S6-024-CMCA	4-6 week lead time

2 [F69018004](#) CABLE, FIBER OPTIC - 4 FIBER FLAT DROP W/O GROUND WIRE, 10,000' NR REEL 60000 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
60000	0.12300	7380.00000	90	Millennium Florida - Apopka, FL	WAVEOPTICS	FOSPC-004-1-FDLTD30-FT000-US	15-17 week lead time
60000	0.16200	9720.00000	126	Border States - Tampa, FL	Priority Wire & Cable	F-DFD1JKT-12-B1-004-E3	2x30,000reels. ResiLink(TM) Flat Drop 300lb Tensile, Gel-filled tube 4 Fiber Bend Insensitive SMF, RUS CFR-1755-900; ICEA S-110-717
60000	0.19070	11442.00000	56	Netceed - Winston Salem, NC	OFS OPTICS	AT-3CE8T7X-004	
60000	0.20250	12150.00000	30	Millennium Florida - Apopka, FL	OFS OPTICS	AT-3CE8T7X-004	4-6 weeks
60000	0.20500	12300.00000	56	GRESKO - Wildwood, FL	PRYSMIAN	C-DFD1JKT-24-B1-004-E3	A SHIPPING TOLERANCE OF -0% / +4% ON THE ORDERED QUANTITY MAY APPLY.
60000	0.21700	13020.00000	45	Genuine Cable Group - Alpharetta, GA	OFS OPTICS	AT-3CE8T7X-004	PRICE PER FOOT - MFG LT 4-6WKS ARO
60000	0.23500	14100.00000	56	GRESKO - Wildwood, FL	OFS OPTICS	AT-3CE8T7X-004	

3 [F69018012](#) CABLE, FIBER OPTIC - 12 FIBER FLAT DROP W/O GROUND WIRE, 20,000' NR REEL 40000 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
40000	0.16000	6400.00000	90	Millennium Florida - Apopka, FL	WAVEOPTICS	FOSPC-012-1-FDLTD30-FT000-US	15-17 weeks
40000	0.18500	7400.00000	126	Border States - Tampa, FL	Priority Wire & Cable	F-DFD1JKT-12-B1-012-E3	2x20,000reels. ResiLink(TM) Flat Drop 300lb Tensile, Gel-filled tube 12 Fiber Bend Insensitive SMF, RUS CFR-1755-900; ICEA S-110-717
40000	0.23630	9452.00000	56	Netceed - Winston Salem, NC	OFS	AT-3BE8T7X-012	

40000	0.25000	10000.00000	30	Millennium Florida - Apopka, FL	OFS	AT-3BE8T7X-012	4-6 week lead time
40000	0.25500	10200.00000	56	GRESKO - Wildwood, FL	PRYSMIAN	C-DFD1JKT-24-B1-012-E3	A SHIPPING TOLERANCE OF -0% / +4% ON THE ORDERED QUANTITY MAY APPLY.
40000	0.26700	10680.00000	45	Genuine Cable Group - Alpharetta, GA	OFS	AT-3BE8T7X-012	PRICE PER FOOT - MFG LT 4-6WKS ARO
40000	0.27500	11000.00000	56	GRESKO - Wildwood, FL	OFS	AT-3BE8T7X-012	

4 [F69019600](#) CABLE, UNDERGROUND FIBER OPTIC - 96 FIBER, 30,000' NR REEL 30000 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
30000	0.61500	18450.00000	70	GRESKO - Wildwood, FL	OFS	AT-3CE43CT-096	
30000	0.66530	19959.00000	56	Netceed - Winston Salem, NC	OFS	AT-3CE43CT-096	
30000	0.71400	21420.00000	126	Border States - Tampa, FL	Priority Wire & Cable	F-MDH1JKT-12-2X-096-E1	2x15,000 Reels - SiroccoHD Microduct LT Cable, 4.7mm cable OD 12F/Tube, 1.1mm Gel-filled tube(s) 96 Fiber BendBright XS200 SMF (ITU G.657.A2, G.657.B2 and G.652.D)
30000	0.75000	22500.00000	120	Genuine Cable Group - Alpharetta, GA	AFL	LM096906201N1	LM096906201N1B - AVAILABLE STOCK (13,216') & (18,136FT) REELS COST \$0.78 PFT - SPEC SHEET AVAILBLE UPON REQUEST

5 [F69021105](#) WIRE, 14GA SOLID ORANGE (TRACER), THHN - 2500'/5000' SPOOL 60000 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
60000	0.08000	4800.00000	14	Millennium Florida - Apopka, FL	AWG TYPE THHN	5000' SPOOL	
60000	0.10800	6480.00000	84	Border States - Tampa, FL	Colonial	***	#5 Colonial - 14GA Sol THHN
60000	0.11000	6600.00000	10	Stuart C. Irby - Lake Mary, FL	ALAN WIRE	***	
60000	0.12700	7620.00000	10	GRESKO - Wildwood, FL	ALAN WIRE	***	
60000	0.13500	8100.00000	70	WESCO - Orlando, FL	Colonial	***	1 REEL 2500 FT ORANGE STK TAMPA, SUBJ TO PRIOR SALE; NOT TRACER WIRE

6 [F69030506](#) SUPPORT, TANGENT- 24 INTERMEDIATE & 6 REGULAR FIBER OPTIC 100 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
100	33.35000	3335.00000	49	Stuart C. Irby - Lake Mary, FL	PLP	44000691	
100	33.71000	3371.00000	28	Netceed - Winston Salem, NC	PLP	44000691	
100	33.95000	3395.00000	21	WESCO - Orlando, FL	PLP	44000691	
100	34.01000	3401.00000	21	Millennium Florida - Apopka, FL	PLP	44000691	
100	35.30000	3530.00000	42	GRESKO - Wildwood, FL	PLP	44000691	
100	36.50000	3650.00000	15	Genuine Cable Group - Alpharetta, GA	PLP	44000691	MFG LT 2-3WKS ARO

7 [F69030696](#) SUPPORT, TANGENT, INTERMEDIATE FIBER OPTIC (96) 100 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
-----------	-------	----------	----------	----------	--------------	-------	---------

100	33.35000	3335.00000	49	Stuart C. Irby - Lake Mary, FL	Preformed Line Products	44009798	
100	33.95000	3395.00000	21	WESCO - Orlando, FL	Preformed Line Products	44009798	
100	34.01000	3401.00000	21	Millennium Florida - Apopka, FL	Preformed Line Products	44009798	
100	35.30000	3530.00000	42	GRESKO - Wildwood, FL	Preformed Line Products	44009798	
100	36.50000	3650.00000	15	Genuine Cable Group - Alpharetta, GA	Preformed Line Products	44009798	MFG LT 2-3WKS ARO

8 F69050506 SUPPORT, DEADEND - 24 INTERMEDIATE & 6 REGULAR FIBER OPTIC 150 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
200	3.85000	770.00000	49	Stuart C. Irby - Lake Mary, FL	PLP	288811274	100 per carton
150	3.91000	586.50000	21	Millennium Florida - Apopka, FL	PLP	288811274	
150	3.95000	592.50000	5	Genuine Cable Group - Alpharetta, GA	PLP	288811274	MFG STOCK AVAIL 1WK ARO
200	4.05000	810.00000	21	WESCO - Orlando, FL	PLP	288811274	SP = 100 EA
200	4.22000	844.00000	42	GRESKO - Wildwood, FL	PLP	288811274	STANDARD PACK 100

9 F69060004 CLAMP AL SER WEDGE FIBER OPTIC 500 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
500	3.05000	1525.00000	7	WESCO - Orlando, FL	MACLEAN	7187	
500	3.12000	1560.00000	28	GRESKO - Wildwood, FL	MACLEAN	7187	
500	3.35000	1675.00000	35	Stuart C. Irby - Lake Mary, FL	MACLEAN	7187	
500	4.55000	2275.00000	15	Genuine Cable Group - Alpharetta, GA	MACLEAN	7187	MFG LT 2WKS ARO
500	4.61000	2305.00000	14	Millennium Florida - Apopka, FL	MACLEAN	7187	

10 F69080500 ENCLOSURE, SPLICE POINT, INDOOR/OUTDOOR, W/O PIGTAIL 10 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
10	15.20000	152.00000	21	GRESKO - Wildwood, FL	TOTAL CABLE SOLUTIONS	FLP-15G-06501-000-00000	
10	15.50000	155.00000	7	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	FLP-15G-06501-000-00000	in stock with mfg
10	15.75000	157.50000	5	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	FLP-15G-06501-000-00000	MFG STOCK 2-3DYS ARO
10	16.10000	161.00000	5	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	FLP-15G-06501-000-00000	

11 F69090215 VAULT, HDPE RECTANGULAR, W/TIER 15-22 - LID, SIDEWALK, 13" x 24" x 18" - OCALA FIBER NETWORK 200 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
200	218.10000	43620.00000	21	Millennium Florida - Apopka, FL	GLASMASTERS	****	freight included
208	220.00000	45760.00000	49	GRESKO - Wildwood, FL	CHANNELL	BULKU1324180062009	STANDARD PALLET QTY. IS 16. MUST BE AWARDED LINES 11 AND 12 TOGETHER.
200	230.00000	46000.00000	15	Genuine Cable Group - Alpharetta, GA	AMERICAN POLYMER COMPANY (APC)	CP132418U2299HS	MFG LT 2-3WKS ARO TO SHIP

60	2.59000	155.40000	28	GRESCO - Wildwood, FL	TOTAL CABLE SOLUTIONS	S-SA1SA1-SR2-001M	
60	2.75000	165.00000	14	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	S-SA1SA1-SR2-001M	
60	2.78000	166.80000	5	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	S-SA1SA1-SR2-001M	
60	2.80000	168.00000	5	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	S-SA1SA1-SR2-001M	MFG STOCK 2-3DYS ARO

15 [F69108100](#) JUMPER, SINGLE MODE, UPC SIMPLEX, 100 FT, SC/APC to SC/APC 150 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
150	30.60000	4590.00000	5	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	S-SA1SA1-SMI3-100F	MFG STOCK 2-3DYS ARO
150	30.60000	4590.00000	28	GRESCO - Wildwood, FL	TOTAL CABLE SOLUTIONS	S-SA1SA1-SMI3-100F	
150	31.12000	4668.00000	5	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	S-SA1SA1-SMI3-100F	
150	32.36000	4854.00000	14	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	S-SA1SA1-SMI3-100F	

16 [F69152070](#) ENCLOSURE, INDOOR LIU FIBER TERMINATION, SINGLE PANEL 60 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
60	31.89000	1913.40000	21	GRESCO - Wildwood, FL	TOTAL CABLE SOLUTIONS	FLP-10B-8801-000-03102 TCS	
60	40.30000	2418.00000	10	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	FLP-10B-8801-000-03102 TCS	MFG LT 7-10DYS ARO
60	41.17000	2470.20000	10	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	FLP-10B-8801-000-03102 TCS	
60	41.38000	2482.80000	7	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	FLP-10B-8801-000-03102 TCS	

17 [F69153001](#) ENCLOSURE, SLIM-FIT, WALL PLATE 200 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
200	22.84000	4568.00000	21	GRESCO - Wildwood, FL	TOTAL CABLE SOLUTIONS/LYNN	FLP-A9W-06501-000-00000	
200	23.75000	4750.00000	10	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS/LYNN	FLP-A9W-06501-000-00000	MFG LT 7-10DYS ARO
200	23.87000	4774.00000	7	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS/LYNN	FLP-A9W-06501-000-00000	
200	24.22000	4844.00000	10	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS/LYNN	FLP-A9W-06501-000-00000	

18 [F69160012](#) SLEEVE, PROTECTIVE, HEAT SHRINK RIBBON - 40 L MM - PACK OF 25 50 Yes ***NOT ACCEPTING COMMSCOPE***

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
50	5.72000	286.00000	5	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS/LYNN	ST-RPS-40MM-50	
50	5.80000	290.00000	28	GRESCO - Wildwood, FL	CommScope	SMOUV-1120-R1/12-02	
50	12.89000	644.50000	28	GRESCO - Wildwood, FL	TOTAL CABLE SOLUTIONS/LYNN	ST-RPS-40MM-50	

50	13.62000	681.00000	5	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS/LYNN	ST-RPS-40MM-50	
50	15.30000	765.00000	5	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS/LYNN	ST-RPS-40MM-50	MFG STOCK 2-3DYS ARO

19 [F69190400](#) PIGTAIL, FLAT DROP CABLE, SIMPLEX, SC/APC TO BLUNT - 400' 60 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
60	88.46000	5307.60000	98	GRESKO - Wildwood, FL	TOTAL CABLE SOLUTIONS	MST-OA1BL-01SF-(M)400F	
60	88.55000	5313.00000	75	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	MST-OA1BL-01SF-(M)400F	
60	92.37000	5542.20000	60	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	MST-OA1BL-01SF-(M)400F	10-12 weeks
60	110.88000	6652.80000	56	GRESKO - Wildwood, FL	TOTAL CABLE SOLUTIONS	MST-OA1BL-01SF-(M)400F	
60	112.50000	6750.00000	45	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	MST-OA1BL-01SF-(M)400F	MFG 5-6WKS ARO EXPEDITED AIR

20 [F69191000](#) PIGTAIL, SIMPLEX, SC/APC, 3.3' 200 Yes

QtyQuoted	Price	Extended	Delivery	SuppName	Manufacturer	CatNo	Remarks
200	1.46000	292.00000	28	GRESKO - Wildwood, FL	TOTAL CABLE SOLUTIONS	S-SA1BL-SRW9-001M	
200	1.50000	300.00000	5	TriniTel, LLC - Post Falls, ID	TOTAL CABLE SOLUTIONS	S-SA1BL-SRW9-001M	
200	1.55000	310.00000	5	Genuine Cable Group - Alpharetta, GA	TOTAL CABLE SOLUTIONS	S-SA1BL-SRW9-001M	MFG STOCK 2-3DYS ARO
200	1.55000	310.00000	14	Millennium Florida - Apopka, FL	TOTAL CABLE SOLUTIONS	S-SA1BL-SRW9-001M	

SuppName

- [American Safety](#)
- [Genuine Cable Group](#)
- [MacLean Power Systems](#)

T&C Comments

No quote, thank you
 ONLY 20 LINES DISPLAYED ON AURSI TO SUBMIT PRICING
 Quote Sent - CB 6/23

No attached boiler plates.